
Detaljer till YFM30058  Kombi/Viltvagn

Artikelnummer Namn Antal

1 Bult M10x70 3 st
2 Bult M10x40 2 st
3 YFM2006507 2 st
4 YFM1005035 2 st
5 YFM1005000 Kulkoppling rund 35x50 mm 1 st
6 YFM3005829 Reflex 2 st
7 Låsmutter M10 5 st
8 Bricka 22x10,5x2 2 st
9 Vagnsbult M12x30 4 st
10 Låsmutter M12 Fläns 4 st
11 8 st
12 YFM3005812 Låssprint M10x90 1 st
13 YFM1004084 Stjärnvrede M10 1 st
14 YFM1005093 Hjulmutter 16 st
15 YFM3005816 2 st
16 YFM1007299 40 st
17 YFM3005817 2 st
18 YFM3005828 4 st
19 Ringsprint 8x45 2 st
20 YFM99016 Dekal varning för klämrisk 3 st
21 YFM99006 Dekal Leja mellan 2 st

M8x16 Fläns TapTite
Boggiebult

M6x16 TapTite

Lämlås med krok
Popnit 4,8x10
Lämlås
Surrningsögla

32
1

4 5 6

7
8

910

12

9

11

13

14
15

16

17

18

19

20

21


	Tabell1

